Working with Equations – Lesson 1

Which equation is true?  Justify your answer.

  or   
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Tommy uses the proportion below to
determine the amount of butter, x, to
use with 120 grams of sugar in his
cookie recipe.

X
120

2
3

How many grams of butter does Tommy
need?

a 40
b 80
c 180

d 240
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‘What is the value of the expression (g)
when x = 18?

a 2
b 12
c 36

d 108
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The cost of a phone call at a hotel is
determined by the formula C = 0.357 + 0.6
where C is the cost, in dollars, and 7 is the
length of the call, in minutes.

‘What is the length of a call that costs $5.85?
a 3 minutes

b 6 minutes

¢ 15 minutes

d 18 minutes
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‘Which value of x makes the equation
1+x =10 true?

a 3
b 9
c 18
d 81
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The equation d = 3.6 X /i represents the
relationship between the distance, d, that a
person can see in an open field, in kilometres,
and the person’s height, /4, in metres.

One afternoon, Amy can see a distance of
4.5 km.

‘Which of the following is closest to Amy’s
height?

a lLlm
b 16m
¢ 21m

d 25m





‘Working with Equations - Lesson 1
Which equation is true? Justiy yous answer.

5+3=90r 842

+5

Tomumy uses the proportion bl to
determine the amownt of bute, . 1o

e with 120 grams ofsugar i his

ot
b
Hore many g of e docs Tommy
et
s
b
om0
@ 20

Whatis the value ofthe expresion (5
e

a2
[
© 36
o 108



